T

[Omean p [GeV]

Ratio to ATLAS

13000 GeV pp Undgrlying Event

[~ T T T
2.5 Average p, Vs N, (Il < 2.5, p.>0.5GeV,p >1GeV) ]
B m ATLAS 7

[~ —&— Pythia 8.308 default 7

B Pythia 8.308 tune-1 N
2 Pythia 8.308 tune-2c o

i Pythia 8.308 tune-2m }
15— —]
05— ]
i | | | | | | | ' | | | | | | | }

: T T T T | T T T T | T T T T :

2 & -

1 ~\.W+H-H=A=A#‘=ﬁ‘=‘ﬂ—
0.5 — _|

1 1 1 1 | 1 1 " 1 1 | 1 1 1 1

N, (Transverse)

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


